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Please make sure that the pnnted pages in thzs queshﬂn paper are 15 in number
and it contains 34 questions. = |
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book. -

- P I #H T @wwﬂ#ﬁma*www&r%

Before begmmng to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.

Wgﬁﬁ%fﬁgdﬂ%ﬁwﬁ?m?ﬁ?ﬁﬁﬁ%mm%d@w & .frg i forar ga7 7 -

P12

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

~ write anything on question paper and don't make any mark on answers of objective

type questions.,

2329 Downloaded from cclchapter.com P.T.0



'-'mﬂﬁé‘aﬁ?é&#ﬁaﬁgﬁf\aﬁwﬁf‘%wqwﬁdﬁﬁ W?&V#WW
T F 25 o qrar @ T8 A g " B

Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained aﬁer
examination.

e

General Instructions :

() T 397 T &

All questions are compulsory. . P e | |

(i) HEAF 97 B 37 awaé‘m:}aw‘cf#?é‘}_ 4

Marks of each question are indicatéd aninSt it.
(iti) 57 9% 1 @ 15 ﬁ%‘ﬂ?@ﬁ@'ﬂ?ﬁ’gf ﬂa?zﬁw-ﬂ %W?WWWW
Fe-gikrr 4 gt &

Question Nos. 1 to 15 are objective type questions carrying 1 mark each.

Candidate have to write the correct answer in their answer-book.

(iv) F97 F9% 16 T 23 T% G- TITIAE F7 81 J9% J97 2 ST & & J0F F97 I
G TTHT 30 = F Fforay

e g

Question Nos. 16 to 23 are very short answer type questions carrying

2 marks each. Answer these in about 30 words each.

TS o e e

(v) 57 F% 24 @ 31 TF TGATHE 97 &1 T I 3 5B w7 & gos gea @ gOv
TTHT 40 f=] 7 o

Questwn Nos. 24 to 31 are short answer type questions carrying 3 marks £

each. Answer these in about 40 words each.
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(vt) ST FHIF 32 T 34 aa;a?a‘aﬁwmr%mwvs ey#w%ya?wwvw

FTY TTHT 70 w?‘#a?ﬁr?cr;

Question Nos. 32 to 34 are long answer type questions carrying 5 :ﬁtarks

each. Answer these in about 70 words each.
i) TeF T F w7 @ P Pt T 8 quR s s a wh s F onaRes T
ST e mr & 0 geit & @ SR HaT 0% & F97 Fr B

There is no overall choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the

given choice in such questions.
B, H‘ﬁ)

(Objective Type Questio ns)

1. 2.005 T arefe Al @ & @ ¢ S R 1

(A) o0 1 Hoplza; i (B) i &
(Chg sl ol R L (T ST

Number of significant figures in 2.005 @

R | | et et

(€) 4 . (D) Infinite
2. CO, % A & R 1

A) 22 | _ ~ (B) 38

C) 44 L ' G 10

Molar mass of COz 1s : |

(A) 22 . (B) 38

(C); 44 | | (D) 28 .
2329 Downloaded from cclchapter.com P. To@:



2 e g
VRS

3. Freifofa s & & Hie-ar G 78 o ¢
@ 1p @ 2

||'.‘.I i

(C) 2.p' | (D). &d

Which of the following orbitals is not possible ?
(A) 1p B | R «W(B). 28
(C) 2p e (D) 3d

(A) T . (B) T

(C) i comiesT o (D) EEE B TN ke
Principal quantum number represents :
(A) Shell 44 ' (B)# Bubshell

(C) Orbital it AR (D) Orientation of the spin of electron

5. d-=if awdr & QE SOl A € _ . 1

&) ns® nd*'° Do @ (e D0 g
©) ns2ng® D) (n-1)d=0 ns?
General electronic Config_uratiqr_ilaf d-block elements. is

(A) ns? nd-0 (B) (n - 1)d"10 ng®2

(C) s™P ndtil e oy Q) (ns 1T Agt
gt Downloaded from cclchapter.com
2329 | -



o

2329

(B) <hIehio™
(C) A= a A9
(D) & § &8 7l

Group-16 elements are known as :
(A) Halogens

(B) Chalcogens

(C) Nﬂb1¢ gases

(D) None of these

e et & @ - 4T et & e W AR 7

(A) R STHX m:“{fem?r e H FI9 q7 Bl 8l
(B) & ofEd G0N b GYE-1 | ﬁ@Fﬂq 2

(C) ¥ AW-STIH S F T aﬁﬂanéﬁ ?ﬂg’ % P

D) R T e T R A A A

Which of the following statements is not true for alkali metals ?
(A) These are 1arge$t in size in th”eilr respecum perimd_s.

#B) These belong to Group-1 .Df periodic table.

(C) These are StrongeSt metals in their respective periods..

(D) Ionization enthalpy of these increases down the group.
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‘8. CoHs4 H Fo QY] T HhXOT g GRS B0 e D L e 1
A) sp® _ (B) sp? ' |

(C) sp . (D) sp*d

Hybrid state carbon in C3H4 is :

(A)  sp? | (B) sp?
(€C) sp " g (D) spd
9. SN % FoH Frow MOy ww A R el ]
(A) AU=g+w . | (B) AU=gx w
©) AU=-g-w il (D) AU=w-g
Mathematical statement of first law of thermodynamics is :
(A) AU=qg+ w I gy 5 e (BY '3.11U="-:q_;< w

(C) AU=-g-—w N e :.(D} AU=w-q

10,. mﬁm%mq: wﬁ@%%ﬁlﬁﬁc}@m% _ = _ ]

(A) FTem | el B O

(C) = ot (e i) strse (D) T ¥ FE T

For a process to be Spoﬁtanenus, AG 15 e

(A) Negative : (B) Positive

(C) Zero (D) None of these

2329 Downloaded from cclchapter.com



12.

(7) 2329
ﬁﬂlﬁ@aﬂ%ﬁﬁ-m@gﬁmqg%? -4
(A) HO" (B) BCI,

iy F (D), H,O

Which of the following is not a Lewis base ?

(A) HO (B) BClL,

C) F - D) HO
ar:\q%gair{NHa%%m-igw“aw%: ' e
(A) NH, Sl (B) NH;

(C) N,H, L . oW,

Conjugate acid for the Bronsted base NH, is :

(A) NH, | i (B) NH,

(C) N,H, | (D) N,

13. graEer § ARlRT Hy(g) + L (9) = 2HI (g) % fou amamaen fRrid K. 9 K, 7 &9 §

2329

Hafed & ¢ | 1
(A) K,=2K,. _ (B). K¢ >.Kp
C) K,> K. i P (D) Kp=Kc

In the equilibrium reaction H,(g) + L (g) = 2HI (g) equilibrium constant K, and

Kprelated as : |
A) Ky=2K. (B) Kc> Kp

C) Kp>K,. (D) Kp= K¢
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15.

16.

17,

18.

19.

5399 <

Oxidation number of Mn in K,MnO, is .......... .

CH,=CH-CH,~CH, 7 CH,~CH =CH-CH, ¥, . ey 1
(A) e FE - (B) N wEE

©) T o wEEd 0000 (D) A

CH,=CH-CH,-CH, and CH,;~CH =CH-CH, are :

(A) Chain isomers _ _ (B) PD_Sitin‘l isomers

(C) Functional isomers - | (']JZ).) Metamefs

(ST )

(Very Short Answer Type Questinnﬁ)

Explain the law of multiple proportion.

UIScll & 9geid [9ard 9 @ i) - TPUTE o8 T 2

Explain Pauli Exclusion Principle.

ST~V BIESIST ST P IaTEX0 Hied THey 2

Explain intra-molecular -hydft}gen bond with example.

TN Be-H &g gdtg 8, 9oy BeH, o1 & fagm oMyt g1 B @ @iy 2
Explaln W_l’;y.BEI-Ig molecule has_z_e_rg dipole moment, although the Be —H bonds
are polar,
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3 ;'.:.l. . i F ‘

R .J".“- T - Hﬂ

g , 7% M . 3 -
(9) 2329

| ot T % Rt ey o
e g T= 300 K.
2

_.The equilibri
_. q Hlum constant for a reaction is 10. What will be the value of AG® ?

21, T™ 2H, (g9) + CO (g) = CH;OH (g) W% Y9I &@ge : | | 2
i) H, WM w
(i) CH,OH &M [

On the equilibrium of reaction 2H, (g) + CO.(g) = CH;0H (g) describe the effect
of : |

() addition of H,
(i) removal of CH,OH

N

22. TAGCMD THIEG FM & 7 Sae Al | - 2

What is electromeric effect ? Give example.

23. YROIFAEE GHME F471 § ! §% JaTEIUl 9l W HivY o | e

What is Peroxide effect ? Explain giving one example.

(e )

(Short Answer Type Ques’gions)

24, U .qi;4;@mﬁwﬁ%ﬂmﬁmﬁmﬁqﬁam%ﬂﬂomo%
(A & fp ot @ & 1 &) | B

Calculate the molarity of a solution of ethanol in water in which mole fraction

of ethanol is 0.040. (assume the density of water to be one)
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. How do atomic¢ radius vﬁry in a period and in a group ? How do you explain

- 26.

27.

28.

4 F - i

the vaniation?_ . . .¢ ¢ . AR

", . ..,:l t i.l-_i. ;
% 4 '

gEHE O R I ¥ 6 3

Write the molecular orbital electronic configuration of O, molecule. Calculate

its bond order and indicate’its magnetic properties.

frfoRea & oRwfyg s : ' .- 3
() feEde o
(i) < Ml

(i) SIHFFET # AMD TR

Define the following terms :
(i) Extensive properties

(i1) Closed system I

(11)) Standard enthalpy of reaction

(@) % ST TR § ST e ¥ 7 ' S

- "What do you understand by ionic-product of water ?

(b) 0.05 M Ca(OH), R 1 pH S v ' 2

Cﬁléulatc the pH of 0.05 M solution of Ca(OH),.
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MO, (ag) + I'(ag) - > MnOy(s) + 1 (s
Bal ; | |
alance the following €quation in basic medmm by ion-electron method :
an (ﬂq) 0 (aq) - Mn.Oz{s) + 1, (s)
30. W%W%IUPACﬁmW i, = 3
| i e
(i) CHS—(IZH-CHQ—C_OCE T
OH
- (lszs
(i) CH,~CH=CH-C-COOH
| |
CH,
?OOH
(iti) @
NO,
Write JIUPAC names of the following compounds :
i
(i) CHs (IZ‘H— CH,-C-OC,H;
OH
EHS
(i) CH,~CH= CH_-(-'lj- COOH ;
| CH,
?OOH |
' P.SRAO.
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(12) 29
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b T |-.\"i LR g TN | |

31. Pefied fbREGT 3 O AR : 3
OONa
(i) + NaOH — =52
i) e HNOS A= HpS04
OH
i) v i o

Complete the following reactions :

OONa
; | Lol
(1) + NaOH e
i
- . )
(ii) @ + Conc. HNO; CGHG_HE SN

(i)

SR

(Long Answer '_I'"ype Questions)

32. (a) V&S HEw F AY T E 7 e e 2
What are drawbacks of Rutherford model of atom ?
() PR A R A RO Sl A e © OO -

What is significance of negative sign for the energy of electmr_a_' in a shell ?
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[ i AR
e e
R s L

What does dugl behaviour of electro-magnetic radiation mean.sl?
YT
oR
@ Prffe @ o B 3
Detine the following :
@) emrer foga mﬂa g

Photoelectric effect

(i) TCT =
Wave number
(iii) THY Heh

Degenerate orbitals

(b) TIfEEH I ER Seani Ui S B aeEt (0) 580 nm Bl FHE SER (L) AR

O &A1 (D) @ IREAT o 2

Yellow light emitted from a sodium lamp has a wavelength (A) of 580 nm.

Calculate the frequency (v) and wave number (T).

3. (a) oMy Y qhET =W el o FRTE AT § AR 1 SURYRY H T B T ? 3

How will you detect the presence of sulphur in an organic compound by

Lassaigne's test ?
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- By (14)
(b) e ST 7 0.3780 g FEFH T A F 05740 . et FEE T
g AR F FAT A ofvsrer # moEr A 4

0.3780 g of an organic chloro compound gaﬁe 0.5740 g of silver chloride

in carius estimation. Calculate the percentage of chlorine present in

compound.
on _ _
P R S S ¥ ? e ST au e %) e ﬂ‘ﬁjﬁ‘m: 5

How are carbocations formed ? Explain their structure and stability.

34. f=fafEd @ T&tqﬁaﬂhzﬁﬁq:
Explain the following in detail :
(@) S T . ’ | >
Ozonolysis . : |
(b) FeiFeITETe! HCRTa STfshar l Fharfafe s | 3
Mechanism of electrophilic substitution reactions
HYCT
OR
(a) FrfciREe stf¥isharstl @ U I i . alaln 3

Pd/C A

() CH,-C=CH+ H,

¥
n, H

(ii) .. CH,Cl + H, >

(idi) @+ CH,COCI Feotet_AICls
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Complete the following reactions :

i) CH,-CaCH+ g, 120

.+

(i) CHCl+ H, <t

(i) @ + CH,COCI Anhydrous AlCl;

(b) T F IW @ WAk dEEN B [ AT T T TR | -

Draw Newman's projection for the eclipsed and staggered conformation of

ethane.
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